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Secticn A [30 marks] At {30 4]
There are 30 questions in Section A. Answer ail the questions.
Each question is foliowed by four opfions, A, B, C and D. Choose the Correct option.

AdndAT 30 B, wWAASHIHA,
HAMA A, B, ChDWARE, HEEHNEE.

1 Joe wants to breed a type of animal.  He lives in a place that snows during winter.
What is the characteristic of an anima! that is not suitable to be bred in that area?

NARER A, HEFEXRATENLE, AMEHIENHHIE
SR e LENRT,

A Has a tick layer of fat under its skin & FWM 4 — & B Ik

B Hassmallears A 4%

C Hasshorthair WAL 4

D Has thick fur WHEBEEE

2 Anthony wants to group the foliowing plants.

ZHERBEEATHE X,
Group X Reproduce through suckers
A X BiLRF ¥ Jﬁ
Diagram 1 B —
A Banana piant B Pineappie C Bamboco D Ginger
HEH -3 ¥ £

3 Diagram 2 shows a cube-shapad carton of crange juice with a vertical straw of 11
cminit. Whatis the volume of the carton?

BT &5l et 55 Rk Mom 82 HRF. AETHRR
S

-yl 3 cm

oo
V le

Diagram2 & —

A 1331cm® B 512em® C 450cm’® D 27cm®



28 Diagram 21 shows ways to redus2 {ncdon. B-o+—R TRy BEGT &,
T Way to reduse friction
By RS 7 i

1
¢

[ T | I
Use lubricants Use bali bearing 1 I Use rollers R
BNFRH wRRsE | | RARK |
: .
[ | 1
Oil Water | | g
Akl

( Diagram 21 B —+—
Whatare Rand S? R A= S &4+ 47

R S
A | Use talcum powder R ﬁ.%}% Grease # &
B | Use air cushions 4 L Paint %
C | Use contact surface Y EY Y Wax ¥
D |Use smooth contact surface 1% A £ & #iEfk & | Alcohol B+

29 Diagram 22 shows a food web in a habitat.
B =+ = B — A A R

//,Q\\\

Which of the following classification is correct? | l;agt S

F &AW AR EH G \ e
i:‘R

Herbivore Carnivore Omnivore
BN | ARFIH | L% 1
A R. T S. U Q. Vv
B Q. T R,V S.U | ;/\%
c | R. V S. U B Q T
D Q. Vv s. U CROT Diagram22 B —+=—

30 ;ﬂgi -
¥ T, e
O00¢

PoQ R S
Diagram 22 B -1+ =
Diagram 23 shows a gear systern. [If geai S, rotates in the direction shown, the
direction for gears P, Q and R are
B-o+ZfF—aEi, REER SMENTY S Gk, FAERP. QP
R #g3e# 5 m R
P 0 R P Q R
A XTTNETTNETTTN C £ NN

P (7} R - P Q R
B T W YN Y S
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Section B[20 marksj __ B 8 [20 &1
Answer all guestions
w2 H A XA

-1. Diagram 1 shows an experiment on pulieys. Each object weighs 500 g.
B A AR RE, ANRREGAE NS00 8

IPII IV LI

7///5//////////////9 Y S L L x.’zéz’

Spring

balance spring

RS
Object s =
i ogec -

Diagram 1~ &E-—
Table 1 shows the result of the experiment. A—ETERE i X,

[ Pulleys Force applied to pull the object (g}
. BR __ﬁﬁ*#%i@% A (g)
P ~ 0
Q - V2 H—
R 105 ~
S R B —
Tablei &—
a State the purpose of this experiment. B X R R A A,
(1 mark)
b State one information gathered in this experimeni.
E X RAE ST P a8y — AT A
(1 mars;

¢ Whatis he trend of change in the force applied to pull the objects by pulley P, (6 8
R and S?
ABEP. QR PSP, I3 A Ak B S0 ) € ALY AR &M

(1 mark)

d What can you conclude from this experiment based on the result of the
observation?
mEMEE R, R ST 4 A AR

(1 mark)

e Predict the force that wili be applied if pulley S is able to pull an object of 1 kg.
ERARE S A E ke Ak, AT T,

(1 maik)
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2 Diagram 2.1 shows an experiment. A 2.1 ETF—REE,

a

AN | V4
Ve i A\
Balloon
Balloon Uk
4 G813
e
=]  Plastic bottle Plastic bottle
=T B > BHHR
# — ikan
Before experiment Put under the sun after an hour
B AT Ak m kT BE—ADEE

Diagram2t B 2.
State one reasor: based on the change of the plastic bottle and the balloon.

Bt A LR AL, BR—ARA.
(1 mark)

b Write one observatidn to support you answer in 2a.

d

B o — AR LR 2B
(1 mark)

The plastic bottle is immediately piaced in the refrigerator as shown in Diagram

2.2 for another experiment.

R e BAH T LA e 2.2 BT Wk, AR —AKE.
————

o

Diagram2.2 B 2.2

Predict what happens io the plastic bottie and balloon after an hour.
""‘J‘ B"j‘g 5 by "E‘l ﬂﬂ’#ﬁaf" EL}"%{?\"EC*# >

(1 mark)

State 5 &
| whatis changed? fAA EEFA:

(1 mark)

Il whatis observed? /A E Y ¥R
(1 mark)




3 Sing Wang carried out an investigation to find out the relationship between the
length of plank and the number of books to balance a bag as shown in the Diagram.
3.

2R R R B ZH FUARE ARG RE 5 ARTFHHEAHAKE,

Book
Bag ¥ K

Pianit 70 crn

Diagram 3 A =
Table 2 shows the resuit of the investigation. He marks each plank with 30 cm
iength from one end.
AR ROHER, RAESAKRY—Hir L 30 RAH KA,

Plank Length (cm) Number of books
A B (BX) HAGEE
A 70 B 15
B a0 i 12
C 111G L s 9
D 180 _ P
Taple2 K=

a State the trend of the number of books needed to lift the bag.
Bk B E o B A RE R B TN

(1 mark)

b What is the relationship hetween the length of the plank and the number of
books to lift the bag?

ARG KBS FLH QT OB ARERE ZRAH 4 XK

(1 mark)
¢ Whatis kept the same in this investigation?
LXRAEEY, LAFEFTEAFRARMA LY
(1 mark)
d State the conclusion of the investigation. 5 i 5 & ¥ #4512
(1 mark)

e Predictthe value of P.  #an P #9344,

(1 mark)




4 Suzanne studies the changes of state that water undergoes. The results of the
study is shown in the flowchart as shown in Diagram 4

IR KT 89 A AL, TR AE R B W ERALRF,

Water
*
_ |
lF‘rocess M igAEM l Process N i3 4% N
Temperature 100 °C Temperature 0 °C
B 160 °C =B 0°C
v h
T

Result{ Watyjeir%/ipour Result Ice
R . xR o

o

Diagram4 B X

a What is changed in this study?
LERAFREF, THEGFRARM AT

(1 mark)
b Write the process M and N in the siudy,
B ki oy A2 M Aeid 42 N,
I M
I N:
(1 mark)

¢ Predict the trend of change in the temperature if the water continues to be
cooled in process N?

Jo B AN P 6K H Sk A e, FRIE R & TR X2

(1 mark)

d Based on the results of the study, what can you say about the state of water?
A TLER, R HETHEAT L2HLN?

(1 mark)

e State one observation to support your answer in 4d.

RE—ALELAELHREMRTHER,

(1 mari()
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Section A~ Suggested Answer

Afp - RUEE
1C 6 C 1 C 16 C 21 B 26 D
2 A 7¢C 12 C 17 D 22 A 27 D
3B 8 D 13 B 18 C 23 D 28 A
4 A 9 A 14 D 19 C 24 B 29 C
5 A 10 C 15 A 20 C 25 D 30 D

Section B - Suggested Answer

Biz - ARFE
To study the relationship between the number of pulieys and the force applied to
pull an object / how the number of pulleys can affect the force applied to pull an
object.
HIRERRGEEELRWRFERGAZAGER | REOBETYRE
X TN AR
Types of pulleys used / the mass of objects { the force applied to pull each object
e | RS RE | BRI EG )
There is a decrease in the force applied to pull each object. & / TH
When more pulleys are used, the less force will be applied to pull an object.
AL $, iridolkriLey Y
170g

The air in the plastic bottle and balloon have expended / inflated.

BHHA URAHZ LLRBR

As the plastic bottle and balloon expand / inflated, their volume will become
larger. MHHA LERPEKT, BKRELEXT.

The plastic bottle and balloon will start to deflate and their volume will become
smaller. BHML2UH, TRSKE, RRSE D,

| The place where the plastic bottle is placed (under the sun or in the refrigerator)

PHAREANRT (KBATAARAL)
il The conditions of the plastic bottie and the balloon. ## 4= Lty

Decreases TH

As the length of the plank increases, the number of book to lift the bag
decreases.

ARG EERK, FLBOHBOHRABERRY,

The mess of the bag / The distance between the bag and the pivot.
poEE | POELELMAMHER,

As the length of the plank increases, the number of books to balance the bag
decreases.

ARG EBK, RRPH5OHE e AnEia),

3books 3 &

Temperature 2 A&

| Boiling 3%

Il Freezing #B8

No changefk ¥ <&

Water can exist in the form of solid, liquid or gas / water can change from one
state to another

KABK, RAKZAKGHBEAELE | ROH ST LRER

Water can change to water vapour at 100 °C / Water can change to ice at0 °C
£100°C RATHBAKER / £ 0°C KTHEAA



4 Rachel wants to perform z study. & = RBEREH AR,

P — Ner
3 oy yi
ALy
4 £ YRR
1P RV EAp Zxo
(&
~.
3\

Damp cotton
| RABIE

The diagram 2 shows what happers after she put 10 green beans in a cut plastic
bottle. What is the purpese of her investigation?

B riikERRAAN IO RELEMERNER, REEHINR
+ 247
A To investigate the condition of plants when competition occurs
AT EFTHBEAMEFHAXEHHAL
B To investigate if plastic bottles can be reused
H T EHABRAMRA G EFRA
C To investigate if piants respond to wafer
AT EHRTHEBRT KA LA
D To investigate if plants need water

AT RFALHBREERK

5 Diagram 4 shows Eva found some seeds on her cat's fur when she was combing it.
What had her cat pass thiough?

Ao TSR RGBT E R — S TARGLAT, e
A T R A A 7 M
A Apatch of love grass 18 %3
B Anangsanaplant #FAK
C Apot of balsam R4k 7
D Arose plant HOR

Diagram 5 & %
What can you say about G? {37 G Ye di 4+ A2 BLEA?

A G only allows some iight to pass through
G Rit—H oML REL
B G'does not ailow light to pass through
G ik A &g
C Giis transparent
G RERK
D Gis translucent
G &2 F & ik



s Second largest planet in the Solar Sysiem
| LkmAFEFKTE
» It has rings surrounding it

AT E LR
The planet mentioned above isthe ____ planet from the Sun.
G LRAMFZRBREEA A
A Seventh L B Fourth & C Sixth 57 D Fifth &

Diagram & shows a thermometer immersed in a liquid.
2} SRR ARLRKEZN P-4
The temperature of the liquid is

BAAWIBREA

A 352°C

B 35.25°C

Cc 370°C |

D 375°C Diagram 6 B

The following shows some information about 3 marble.
F 5| BRI M —E WA

» Mass=2g A% =23
« Volume = 20 cm’ HAr =20 om®
. Surface area = 14 cm’ A& & =14 cm’

If three marbles are droppéd into the measuring cylinder, where is the water level?
INEEL el e by KA A ET

W g '-_ L Measuring cylinder ' A 80

5 B 62

, C 60

—A D 26
l—B-¢




. Diagram 7 shows the different stages in the history of construction technology.

12

4L B R RE ST,
- -

Diagram 7 &t
Starting with the oldest, airange the diagrams in the
development.

YR F A, EAHER] L &5 A AL K

A Q S. T.R B R QT.S c S. T

correct order of their historical

IV REL,
. Q. R D T.Q. R, S

The information below shows foods made using microorganism K.

Tﬂﬁﬁ&%ﬂm&i%KﬁM&%@&o

i
o Beer "%/ |

+ Bread @ & ‘

What is microorganism K?  f# %4 K X 4T

A Mushroom B Mouid {, Yeast
¥ EH AW

Diagram 8 shows a plant in Joanna’'s garden.
RN AR ¥R e R o K

What should be done so that it can grow heaithily?
BT AR AR A ARG & k7

A Pluck the remaining leaves Je#l & et F M
B Cut off all the branches 4w 5 AT 9 M H BT
C Water it regularly A R

D Giveit air i U

D Virus
&
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13

14

15

The following information is ¢1: animals, their eggs and their young.
F AR A5 A eI e b JUH X

 Frogs lay large quantities of #ggs.
TN k|
« Turtles hide their eggs in the sand
e e Pl e 2.
« The kangaroos put their juey in their pouch.
B RAnu LR Lt LR,
« The young elephants stay close 1ooether in the herd

b EERERRE

Which of the following etatements best e explains the behaviour of the above animals?
F 35 5R SE0R A AR LR B A 64T,

A To prevent their eggs and young from the hot sun and heavy rain
B %, 9P &40 )L B BEFH
B To ensure the continuity of their species
AR AT T £
C To care for their eggs and young
7 48 58 FR 9P A L
D To adapt to their surroundings
H T g8 E SR

Diagram 9 shows Charles walking along a street at night.
BAETERL— Sl LT,

Diagram 9 K /L

At which position would he be when the shadow is the longest?
fe A7 BIRAL B AN AROR KETY T

A P B Q C R D S

Diagram 10 shows the deveiopment of phases of the moon. The correct sequence
of the phases is __

B+ R AT, RHWORASA

U

O 0O '®

i‘cdgram 10 il

A X UVW B U WXV c X,Wwu D WXUYV



A

16

17

18

——

,—n—| Block B |
[ e
?ﬁx\lgﬁﬂ% |
| A T o
S N— :
< S Piece of board
é:\"_‘zz;z;f‘ ::L,S_%AJL“ * j'\ *&

Diagram 11 B-+—

When the piece of beard is inclined little by little, Block B will fall off first. Which
one of the following is the miost convincing regarding the activity in Diagram 11?7
% B +—F AR AT A, Ak B RAE T, TR R EHE?

A Taller construction strisctures are more stabie than lower structures
% 69 3E F A YOAR 65 32 S 4k

B The stability of a construction structure is influenced by its location
# AR RAC I R X

C Low center of gravity is more stable than high center of gravity
fhECE ARG SE AW £ T4

D Site surface influences the stabiiity of blocks
JK AR & AR E o KMk AR

\—.-.-.u‘-m/

Diagram 12 B .=
Diagram 12 shows a piece of electronic gadget. What is the function of the part
labeled Q? B+ R -Fe T B QHYA M AAE?
Supply electric current when the switch is tuned on UG &4t & 2
Display numbers when the tuttens are pressed desabt KB F
Convert heat energy to eiectiic energy Jo ik e A 3% A B AR
Convert light energy to electric energy Je X, fe A4 ay Ak

o0 mW>

" AL )
Y A
Diagram 13 B+=

Diagram 13 shﬁWs four diﬁerent types of structures. Which one ca}i Wifhstand the
most pressure from above? ' . " "
B+ 2 FOARRGEH, - TURSEE L7 RXGE

A J B K C L DM




19 Diagram 14 shows three duﬂ‘erent tyres E —r EH S TEMATENHRR.,

21

Diagram 14 BE-+@
Arrange the tyres accoiding to increasing friction.
TARSEIR ) B AOIE MR KA, HEF LR
A PQR B PRAQ C QRP D QPR

Christy cuts out a square with the area of 10 cm
)tﬁ‘lﬁrﬂfkﬁﬁr dh—ANEARK 10 om’ #E T ﬂ,ﬁfm“

Ii5m -

Diagram 15 E*ri
If she cuts out more squares, estimate the number of squares she can put on the
table.
WREBTE R S HEFHET, BB TARER LHEFHRAFORE,
A 1200 B 1500 C 2250 D 15000

Four balls: P, Q, R and S were thrown from the same height. Diagram 16 shows
the marks and depression left on the sand after the balls were picked up.

WAKP. Q. Rf S, ARBHSART., BISIETHRMARELE, GAY
PR:OE: 82 C3 Y 3N Sand ground

3 cmdeep| 1 cmdeep| 5 cm deep; 3 cm deep
* 3 com * 1 cm x5 cm *x 3 cm
Diagram 15 B 5%

Which of the following statements on the mass of the balls is true?

FRVIRRA KR F VAR EHE?

A Ball Q has the largest mass, whereas ball R has the smallest mass
HKQuBERK, RRAFED

B Balls P and S are of the same mass. X P A3k SHMEA MR E

C BallQis heavierthanballs Pand 8. X QR PFfR S &

D Ball Pis lighter than ba!l S. (P tt}i S~




VWl T

) The distance between Kuala Lumpur and Penang is about 360 km. Abus started
its journey at 8.0C a.m. from Kuala Lumpur, and reached Penang at 2.00 p.m.
What is the traveling speed of this bus?

kSR B R 360 AF, —HEET B 800 MEEHCE A, T 2:00
FIRAARI, XACLAEERE DY

A 60 km / hour 60 NE [ B

B 90 km / hour 90 A [ hE

C 180km/hour 180 A% [ E

D 360 km/hour 360 AE [ B

23 Which of the following statements about water are true

F AR A £ KM A AN AR ET

| The temperature of bailing water is known as the boiling point.
7K b s B 65 08 AL v A S

il When water turns intc ice, the volume will increase.
Kk, AREIE I

Il Water turns to ice when the temperatuie is below 0°C.
AARBOCAT, KRatsk

IV lce will start to mett at 0°C
sk Ak # 8 & 0C

A land !l B lland IV ¢ i litand iV D 10, WandV
| A= 1l iWfa IV LA A IV I, 0, Fe IV

24 Diagram 17 shows an experiment carried out by Larry. He poured some water into
a metal tin and heated it tiif the water poiled. Then he covered the tin tightly with a
lid and placed the tin under running tap water for a few minutes.
B+ LR FAMRATH—AFE. e T —RkEE AL, BAREREN
b X ek, kb, KRG Wi A, BAKRRT Bk g RIS,

Meta! tin { 20

oy X3
Tap water
/ —— f kK
Lib
H#E Bunsen
burner
AEST

Diagram 17 B+
The result of Larry’s experiment shows that

ERAEHERE

A the metal tin did not change ABERNAE
B the metal tin depressed A B Y 14
C the metal tin crushed A B s AR
D the metal tin inflated 4B HE W AR

e e e e ©




25 Diagram 18 shows some of the activities that man does to damage the environment.
B+ AR TAR BRIR I I 675,

Diagram 18 B\
Which of the activities wili cause a green house effect?
PR RENBFHBERS .
A PandS B QandR C P QandR D Q,RandS
P # S Q 4= R P. Q4R Q. R# S

26 Diagram 19 describes a lever principle. B+ /LR AcAr ey R AR,

Fulcium
b3
Diagram 19 B+
Which of the following uses the principle iliustrated above to convey an advantage
of ease as well as saving energy”?
FAARAIMOER Lk AAr eI R AR, AEEA . FRAOWA?

A
75 AR
)
w X Y Z
A Wand X B WardY C XandZ D X, YandZ
W He X W 4= Y X e 2 X. YAe Z

27 Diagram 20 shows information gathered from an observation on the night of the15th
Lunar. B =+ SF—AAMRA 15 88 L4 LERE FICE 26T H,

1.4C a.m. 2.00 a.m. 2.20 am. 2.40 a.m.
Diagram 20 B =+

What is the phenomencn?  iX £ 1+ 24 3L 2.7

A Occurrence of day and night & & 4w & #97 &,
B Eclipse ofthe Sun RH A&

C Phases of the Moon 7l 48

D Eclipse of the Moon  H 1




